Andhra Pradesh State Council of Higher Education

Notations :
1.Options shown in green color and with ¥ icon are correct.

2.0ptions shown in red color and with # icon are incorrect.

Question Paper Name : Agriculture and Pharmacy 20th May 2025 Shift 2
Subject Name : Agriculture and Pharmacy
Creation Date : 2025-05-20 18:33:12
Duration : 180

Total Marks : 160

Display Marks: No

Share Answer Key With Delivery Engine : Yes

Change Font Color : No

Change Background Color : No

Change Theme : No

Help Button : No

Show Reports : No

Show Progress Bar : No

Agriculture and Pharmacy

Group Number : 1

Group Id : 64041163

Group Maximum Duration : 0

Group Minimum Duration : 180

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 160
Botany

Section Id : 640411218

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 40

Number of Questions to be attempted : 40

Section Marks : 40

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 640411218

Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 6404119921 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the universal rules of nomenclature among the following
(Bod AE* 86’ FOYSS DoHIreR HBODN
A) Biological names are in Latin and written in italics.
ESF 0T erds S grid Hod = »:.:'—@S*F alevstalaticlovil
B) The first word to start with small letter for genus.
[Berss® 3nsd Do D) @5sos® [Frsogo @b,
C) The specific epithet to start with small letter.
EETTaT \_f“::tuow- F5lnle] Sa*_wééoﬁ‘ (Erdogio waod.
D) Each organisms name will have two components.

58 £ THane® Bok Hrren Gotron.

Options :



Question Number : 2 Question Id : 6404119922 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct statements among the following

Bob a=QE° DB@S argapes Hiohn

I) Pasteur given the name virus.
G_Jdtu Q.r\.. chJ _\065 oucu"U Ouevde
II) Lichen are good pollution indicators.

TEaen 900 seensyy Srdgen.
®

IIT) Three Domain groups were originated from progenote.

338 F“c:um St (PR Sod &Q‘SJOTOJ,

IV) Chrysophytes belongs to Monera.

B RS I0do-8 FobSa.

Options :

L | L 1IN0

I, o1, IV
%

LI IV

LILIV
4.%

Question Number : 3 Question Id : 6404119923 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the following

[Bof 7700 eefsinihsin

List - A
S8 - A

A, C, Photosynthesis L
C,88esexeyy SoGrrSah

B. Plant tissue culture II.

38 Seoere eﬁgéa’.})

G Genetic nature of RNA 1L
RNA 338y sheegsio
D.  Sexual reproduction in plants IV.

FoHed® BoAd [Hexd
g SELENE

Options :

List-B
I3 -B

Camerarius
S0BGHE
Conrat

& SoeeS
Shimakura
SsnETe

V.S. Rama Das

V.S. oeshorh



A-I. B-II. C-III. D-IV

A-TV., B-III. C-II. D-I
2.

A-TI. B-IV. C-III. D-I

A-IIT. B-IL. C-IV, D-I

Question Number : 4 Question Id : 6404119924 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correct statements among the following

Bob aE® HO@S argaged HBoHdn

L Diplo haplantic life cycle can be seen in Bryophyte.
[@rRers® 28350 Giuhasg HBLo.
II. In volvax. meiosis in zygote results in haploid spore.
ao§) 6° Soosng Deios® §ahstns DeieS wre DEHBS vderen HYtHEan.
II. Cycas has siphonogamous oogamy.
T80 doth TrEiird wodBodiEnsn Gotnod.
IV.  Mycorrhizal association can be seen in ¢ycas roots

285 J86® 8do(sSirere Komotio SrESSD)

wl

Options :

L% Tand II

’ II and III

I and III
3. %

III and IV
4.%

Question Number : 5 Question Id : 6404119925 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : In Nepenthes. the upper petiole is modified as tendril and
lower petiole as phyllode and middle lamina as pitcher.
o (A) D085 5BH0d0 Wil grio D8R, Higriio EHyrdbore,

shEEtdo Ererre Srd@Eoh.

Reason (R) : This is to trap msects for their nitrogen requirement.
=0 (R) D 8D &5 S|B=d e5560 %0 dusred podon.

Identify the correct option from the following
8o BE° IS pdseR) HBoSod
Options :
(A) and (R) are true. (R) is correct explanation for (A)
L (A) shbdsw (R) 838, (A) 8 (R) 883 2536,



(A) and (R) are true. But (R) is not correct explanation for (A)
, x (A)Bam (R)F832. (A) 8 (R) TS 2356w =t

(A) is true. but (R) is false.

, x (A)5936, 59 (R) 4856 s=eb

(A) 1s false. but (R) is true
4% (A) G826 =0, =00 (R) #8356

Question Number : 6 Question Id : 6404119926 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following
Eobd TE =8lthan

List - A List- B
S - A S%5 - B

A.  Acropetal, sessile flowers i Compound Racemose
orPHTES0re @oééi?é Dar)e Jocing ©d8yE5w

B.  Three flowered cyme II.  Achvranthus
St Hapyen 508 8BS efdorodd

C.  Panicle [II. Hypanthodium
SRES >RG5 8cHo

D.  Unisexual flowers with irregular IV,  Cymule
arrangement oS

QEOoN Daryen EHBirsore otron

Options :
A-II, B-L, C-1V, D-III

1. %

A-II, B-1V, C-1, D-III
2.

A-1V, B-1, C-11, D-III

3. %

A-IV, B-1, C-1I, D-1IIT

4.%

Question Number : 7 Question Id : 6404119927 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Assertion (A) : External fertilization occurs in Angiosperims.

D ssm (A) L eys Bes 5}35;&;65 oo Hobssno wbhivsosd.

Reason (R) : In mternal fertilization organisms egg is formed nside
female body.

=%eesn (R) . @088 Hebibno =28 c'ga’g)éj é} feskeso éq Brods® O 5\oS0h.

Identify the correct option from the following

Bod =&&° % o] Hfosol
Options :

Both (A) and (R) are true, (R) 1s correct explanation of (A)
. (A) 20808 (R) d=0. (A) 2 (R) 388 958es
1.
Both (A) and (R) are true, (R) 1s not correct explanation for (A)
(A) 08050 (R) Qz20. (A) & (R) $BK 958 ==

2. %

(A) 1s true, but (R)is false

(A) Reo, =R (R) =0 ==&
3. %

(A) 1s false, but (R) 1s true

(A) Qa0 =&, == (R) Q=0
4.9

Question Number : 8 Question Id : 6404119928 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correct statements among the following

(Bod 0&® $B% TEpeR MHBowhsn

I Exine exhibits an array of patterns and designs.

c
:?a’?"_?ccé 12350 o SHSTY @m—g%‘@a Leoldnus® Hrd dotnod.

E_?I:})

II.  Tapetum layers of microsporangium will be useful for the dehiscence.

38 ferdch oS PHwbes® alE@rissmon.

sl 5
&g ) B8 >
III.  The intine wall of pollengrain 1s made up cellulose and pectin.

@088 E’og HeaHesdm ?o-w&ésﬁ, ?o;:%@a K)Béé@ié 8.

IV. By wall formation 8 celled embryosac is developed.
8 ¥rre HoUE EE DD Eeatdrpen S hmrom.
Options :

Tand IT

1. ®



I and IIT

2.
IT and IIT

3. %
IIT and IV

4. ®

Question Number : 9 Question Id : 6404119929 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Study the following list and match them
(Bod &R egchdo T2 288850

List -1 List - IT
$%d -1 SBd - 11
A. Blue dye 1. Smilax zeyianica
29 Borb yers) Ferds
B. Sarasaparilla . Butea monosperma
$EIBBez avgdate oy
C. Yellow dye III. Indigofera tinctoria
Dy Boiv 508 poe ﬁogg@mﬁv
D. Chemical Mutagen IV. Tephrosia purpurea
Sra adBSEKesEsn S st SemBate

V. Colchicum autumnale

SED e&D)S
Options :

Al BV CI DIV

1. ®

A-TIT B-1 C-II D-V
2.

A-III B-II C-IV  D-I
3. %

A-1 B-II CIII D-V

Question Number : 10 Question Id : 6404119930 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Choose the correct statements among the following

Bob &S 56D BECHIINgveletnizary

I The longest cells are nerve cells.
o8 FEIS Sween 8 Seren,
II. Smaller DNA in the bacteria called genetic material.

erdBasirat &) DNA grrres 33;\‘)3\0)?60 [ Slelhileyl

ES

III. Bacterial flagellum has filament. hook and basal body.

wé&oﬁjﬂ gzrgiodoth #0i3), 5780, wrrdsas 200 &otnob.

IV.  In Bacteria. flagella are used to attach to the rock.
aP:,E)cGP Savgren DAY UD"‘\éJ 2B Gorterds @acﬂ;{ﬁ:@'ﬂo&
Options :
I and III
5 % TandII

IT and III

L% III and IV

Question Number : 11 Question Id : 6404119931 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Choose the correct statements among the following

[Bob arRE° HB@S aegmgeRd HBoWHEN

A)  Proteins synthesised by ribosomes are modified in the cisternae and are
released from trans face.
36" Do Hod Joghodest oNs Py BEted® trarogto Tob HEDH
[EeR)swpo ot Dhile ejeEran.

B)  Primary wall is the first formed layer of cell
808 (FPEE S5T0 Inde GT 6.

)  In potato aleuroplasts store carbohydrates.
DOMPEHoHE° e E?)Eﬁgigégéor‘f,: DobDBorTEed Dey BOLrow.

D) In the presence of magnesium ions two subunits of robosomes are
associated with each other.

0’6 Both eNEsTEren Difyhabo wcesS SSSos® 502 dotron.

| =

Options :

1. % 410

Question Number : 12 Question Id : 6404119932 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Choose the correct statements among the following

[Bob a&E° J6EHS g HBoWHI

A)  Cellulose does not contain complex helices.
eSS So8i SGeren SoKD.

B) In DNA one full twn of helical will have 3.6A° rise for each base pair.
DNA & 2.8 $rg 056" goude 5 Sr80 3.6A°H5H&H08.

C)  Abrin is a toxin secondary metabolite.
Bedoh ESBardFomr s@S o8 erd)S Sergo.
D) By grinding tissues in perchloric acid, acid soluble fraction can be
obtained.
36508 eod® Swred SFOSHPN wios® S6ie grrre) Saron.
Options :

 x AB

Question Number : 13 Question Id : 6404119933 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following
Bod &8 wsidchdn

List-1 List - IT
5%3 -1 S%S - 1T
A.  Recombination Nodules I.  Anaphase -I
¥ Sod@red FEDW Hodsd -1
B.  Homologous Chromosomes II.  Anaphase -II
separate Seess 11

2, ¢
Sdoerficdh ESrEtsne Dé&DSmon

C.  Interkinesis IIT. Crossing over
Defesde gy &8 E LA sTetelv )
D.  Splitting of centromere IV. Stage between two meiotic
of each chromosome divisions
(%8 E5rEtS RolEtnahs E5E8es® Boh Hfee
Defesd Dot oty &
Options :

A-LB-II,C-III,D-1IV



A-IIILB-1.,C-IV.D-1I
2.

&1 B~ €~ B -1

3. %

A~IN, B-T, C-HL, D-1

Question Number : 14 Question Id : 6404119934 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the wrongly matched one
& 808 BS° Shpre &) s HBotod

Options :
Bicollateral vascular bundles - Solanum
s ey Todse Hoeren - Arerda
1. *
Gymmnosperms - Albuminous cells
Dees Deeny - ophooing Spren
2. %
Sclerenchymatous pericycle - Monocot stem
s v ESmEreaing HouEE - 2508 e sPonsw
Bulliform cells - Isobilateral leaf
s e0Darb) Seren - DshbgErgy H|Esm

Question Number : 15 Question Id : 6404119935 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correct statements among the following

Bob S SO@S argpged HHoDHE

I. Epidermal cells have more cytoplasm and small vacuole.

Esinle)islion o6 égo‘émmjcﬁ s el Sh00in DPEE &otnod.

II. Outerwalls of guard cells are thick and inner walls are thin.
888 Swro Jendd epdrgSndidin hodorr €D Sm HifEn dedr
©0£008).

II.  Presence of phloem on either side of xylem is seen in cucurbita vascular
bundles.
BHG)er Tz Hoe: 506 HHDH aHFHer PR Sperodn Gotnod.
IV.  Trichomes of shoot system are nmlticellular.

(Ssrol fﬁ"aééxﬁj Lé‘fm*" oseaasndo.

Options :
| % landII
II and III

2. %



IIT and IV
3.9

Tand IV
4.%

Question Number : 16 Question Id : 6404119936 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Each annual ring in dicot stem comprises

s B . : :
Ee58 Doz sroENS® @868 Sochins®

Options :
one ring of spring wood and one ring of early wood.

a8 Sdodrrhadochin Hbch a8 FOrdh Hudhay Sotron.

one ring of autumn wood and one ring of late wood.

a8 %écj;{ﬁ: Dedhan 0bcin af DOl Duchi Sotron.
2. %

one ring of spring wood and one ring of autunmn wood.

28 ddodrrd Hochan Hban a8 éémgd) Hechin Godran.
3.9 '

one ring of spring wood only.

a8 SJ0Sme Soohan SrEh Gotnod.

Question Number : 17 Question Id : 6404119937 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Choose the correct statements among the following

18ob aeRG” §0: e MHBoshim

I) Maiy desert plants show CAM photosynthesis.
e o0 dngen CAM S8me:yy So@rrdah drayaron.
II)  Rotation of planet on its axis causes seasonal changes.
giranigishessin ol éé_f{’ 880 Tor A0S andayen Slsplavt: o
IIT) Ecology is concerned with the changes in the envirommental conditions.
SoegStes Srten edtneegos® SORGI.
IV)  Mechanical tissues are well developed in submerged water plants.
D86 FndN 608 InHE atro|BE Smeroin errr w0 Toh &oenob.

Options :
Tand II

IIT and IV
2. %

II and IIT

4 % land IV



Question Number : 18 Question Id : 6404119938 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) :  Natural ecosystems perform fundamental life support
services, without life would cease.

Ré8o (A) S o O Pvtator 55_5‘(@0@;:} £5708 erdorr aoa TOEDN FIN ST
Baron. SRS £O HooKE eAREE08.

Reason (R) . The dependence on the ecosystems is poorly understood
and they can provide life enhanicng services.

=50 (R) D esSe aéaéée X wrrdddeo 8ol I8 odmSS

é&;d-ﬁé&. 29 £0=°)) KiHHBT e vododiKed.
Identifv the correct option from the following
(Bod =&&° KB @)= HBotob
Options :

Both (A) and (R) are true. (R) is correct explanation of (A)

, (&) m8a (R)dwo. (A)2 (R) $38 Disdes
1.

Both (A) and (R) are true. (R) 1s not the correct explanation of (A)
(A) 585 (R)dezo. (A) 2 (R) £8% D58m =

2. %

(A) 1s true, but (R) 1s false
(A) Qeo, =R (R) Qa0 =%
E

3.
(A) 1s false. but (R) 1s true
(A) Qeo =%, =R (R) Q=0
4.%

Question Number : 19 Question Id : 6404119939 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the incorrect statement among the following
Bod a0E° HB5eD oS B0

Options :
Evolution of C, photosynthesis system is the strategy of maximising the
availability of CO, while minimizing the water loss.

C, 88eeessdy HoMFHBAR $5:5% H0eraSo, InHes® D& S
4 ] = -1 = (<] -

oo
s hr=8

SHoD
0

CO, vl 2o o

1. ®
In Succulent plants water potential gradient established due to
accumulation of organic acids at night.
5g083E InHes® orBire 055 Swreds 105 2ond8 eire sbsore
DH8EE) (HHed 6HE0k.

) % ] 12 )

During night time guard cells become flacid in Succulent plants.
8535508 e’ @i 858 Sween §i§§g@@‘° &0eT0.
3.



Light is necessary for accumulation of K™ ions into the guard cells from
subsidary cells.

85t Seredtd K eoirien $od00h0 ednos wre Do stihis sod

4 % a3 am.

Question Number : 20 Question Id : 6404119940 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Shrinkage of protoplast due to diffusion of water from the cell into the

surroundings.
Eeasin 0 e Sod B JedTedH BBy 23 Joedsn SnthhEe.
Options :
Osmosis

Imbibition

9 % DarSein

Plasmolysis
3 v Sm(Ey SostSHm
Guttation

othlgrsio

Question Number : 21 Question Id : 6404119941 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The correct sequence of essential elements K, Mg, Mo. P. C of the given list,
which show following activities.
(o0& St538° erd K, Mg, Mo, P, C s sSiroso SHEmHos” esg0s.

A) ATP synthesis
ATP S0
B) Component of enzymes
DOBMO WzneEsn
C) Enzyme activation
DOBH eBebo Tnd
D) Twgadity maintenance
oo B0 DEErohes
Options :

C.Mo. Mg. K
1. %

P. C. Mo, Mg
2. ®

Mg. Mo. P.K

3. %

P. Mo, Mg. K
4.4

Question Number : 22 Question Id : 6404119942 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Match the following

List- A List-B
P - A 505 - B
A Mottled leaf I.  Beets
S Ko Sg@o Hexntiaos
B. Heart-Rot II. Legumes
gl Ly Brizgen
C. Mouse ear ITI. Pecan
T8 wohb I
D. Bronzing IV. Cauliflower
(erozoh 0556
V.  Citrus
Options :
A-V. B-L C-IIL. D-II
1.

A-V. B-IIL. C-1IV. D-IT
2. %

A-V. B-L C-II. D-IV
3. %

A-L B-II. C-1IIL D-IV
4. ®

Question Number : 23 Question Id : 6404119943 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following
Bod TEQ wsHBHSD

List- A List-B
SB3 - A %5 - B
A.  Hydrolases [ Argino succinase
& 8fe «dS $&JIE
— &= o
B. Lyase II. Fructose 1.6 bisphosphatase
oGhE ($ET 1,6 DDFES
=] @
C. Ligase [II. Hexokinase
Zng 25238
D.  Transferase IV. Ribose-5-phosphoisomerase
(PR 3E §55£ 5 %@J&ﬁ’a&ﬁﬁ

V. Glutamine synthetase

RS LoBBS



Options :

Al B-V, C-1, D-TII

1. %

A-II, B-I, C-V, D-1II
2.¢¥

A-I, B-1I, C-1II, D-IV

3. %

A-II, B-IIL, C-I, D-V

Question Number : 24 Question Id : 6404119944 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correct statements among the following

& [Bob womed® 3

20 wond woTu &) §“oc§

L Joseph Priestley (1770) : Showed that plants have the ability to take
CO, from the atmosphere and release O,

55 (5 (1770) : Snde ersdnos™ CO, H &0H «§2iD HHse
BcHd DEEHoT.

II.  Jan Ingenhousz (1779) : Release of CO, by plants was possible only in
night and only by the green parts of plants.

&S moedE (1779) : Sngps® Sduo eHDHSD grren T@sre SrED
CO, & athte {f)—“’cfjﬁ DBTS0TRN.

OI.  Julius Von Sachs (1884) : Green parts in plants produce glucose which
is stored as starch.
eDoHR 5&E) (1884) : 30%)06° e grrren AESTRD 6@ Sradd),
©6 hodHmrgor Joy dohatdod e Iar.

IV. C.Van Niel-(193l) : Photosynthesis is essentially a light dependent
reaction in which hydrogen from an oxidizable compound reduces CO,
to form carbohydrates.

0.aS36 (1931) : 86wy SodrriBah Snggore 28 5208 sgrdd S6;
Al -s’;aéi-éfjb arhgsn hod e uf?) S 8% CO, D EoH8se0 oo
S0 FrESwd daird D

Options :

1.3@81‘]I

II. 11T
#®

o IL IV

I IIT and IV
4.¢

Question Number : 25 Question Id : 6404119945 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Number of ATP and NADPH required to make one triose through calvin cycle.

8030 docho oXTe a8 (OEPS 0EEE08 eSddds ATP sbcin NADPH o

| % O6ATPand 9 NADPH

9 ATP and 12 NADPH

2. ®

18 ATP and 12 NADPH
3. %

9 ATP and 6 NADPH
4.

Question Number : 26 Question Id : 6404119946 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correct statements among the following
[Bob arswed® SE@D oD HBoDHEL

I) Fatty acids are broken down to acetyl CoA before entry into respiratory

pathway.
BP9 esiren @8 CoA m DOuT0 Sod aPdBair Stiod 8 (Ha3eon.
R, ST ed S 2 2

[= el

ITy The F component of ATPase is integral membrane protein complex.
ATPase 6% F, edzpessn 8o S*®irded® ol @osss EPAS Sodio.

IIT) Hans krebs elucidated the tricarboxylic acid cycle.
FUED) [Bee078)08 @ Seahod JFdoTE.

IV) All living organisms retain the enzymatic machinery to partially oxidise
glucose.

o) dden KrSES FaSore «d)5803 JoBHH dholErorrdy S0 oiron.
Options :
L L IO IV

LI I
2. %

LIIV

4% IO IvV. I

Question Number : 27 Question Id : 6404119947 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Plants following different pathways in response to the environmental or phases
of life to form different kinds of structures.
SnEen raradirds B £085d0% en|Babmr g fvce Qofacaﬂs;%j} Ecégééacﬁé
] égém} S,
Options :

Plasmatic growth

| = 85 Dorbde



Plasticity

arhnhs
2. ¢ =
Dedifferetiation
DBEES0
3. % >

Sigmoid growth

) ncéoajﬁ Eslealghlal)

Question Number : 28 Question Id : 6404119948 Question Type

Correct Marks : 1 Wrong Marks : 0

Pleomorpic bacteria

DS erdboir

Options :
Acetobacter

L oReSrg6
Beggiatoa

, x Bpdrer
Spirochaetes

. )58

3. e ;

Vibrioid

4 % DBairons

Question Number : 29 Question Id : 6404119949 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Match the following

(8ol 76 exdisithbsin

List - I
S55 -1
A, Complementary receptor site
BOBE (ffErs Sparen
B. Two identical molecules
of RNA
BotH aptrsgdie RNA
e0Eada)) 80
C: Viral enzyme
366 doES
b Proteinaceous infectious
particle
(EPASame Holseans Besen
Options :

L% A-I. B-III. C-IV. D-II

—

108

111

Iv.

List - IT
s -1
Prions
Ealensgs]
Retroviridae

=5 1
ool

Tail fibres

&% DbiSen
Lysozyme

FEE S
SEPED
et 1

: MCQ Option Shuffling : Yes Display Question Number : Yes



A-TV. B-I. C-III. D-IT
2. &

A-TI, B-II, C-IV, D-1

A-TIT. B-I'V. C-1. D-IT
4. ®

Question Number : 30 Question Id : 6404119950 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Choose the correct statement among the following
Bob BE* FO@D ey Do
Options :
Heterozygous parent produces many types of gametes.
L% Dshainre: 5% w38 S0 Hod@rs Herod Q:-(ﬁ;szﬁ}:éj.
Homogygous parents produces similar type of gametes.
shoiniye e 28 55308 Bo@rrderes Blejlettayl
2.4
Heterozygous parents distribute two alleles into a gamets.
Srﬁ;ﬁ}oﬁ)}@a zZaten Sothdse GLJE% Do a8 Sod@rideod 8500

Barom.

In incomplete dominance F, hybrid resembles either of the parent

phenotype.
w038 afrdsdiod® F o8t addhe fdorard’ o5uedd Grdiob.
4%

Question Number : 31 Question Id : 6404119951 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Genetic maps are exensively used as a starting point in
the Human genome sequencing project.

A8yo (A) ;o SeSs AP MSoh @rEES® aiygbred (@rtog Jrdore
&HGIPARN.

Reason (R) : Frequency of recombination between gene pairs on the

same chromosome as the measure of distance between

genes and mapped their position is called gene mapping.

550 (R) 28 Farsfins’d elyhe ede i baodred TFHEhayy
&HEFA0D siEde Y rdo HBa apdo BenHE e
a3iygEieren Wotrd.

Identify the correct option from the following

Bod a&E° JBS v HRoSod

Options :
(A) and (R) are true. (R) is correct explanation for (A)

(A) 560 (R) 5559, (A) & (R) 585 956
1LV



(A) and (R) are true. But (R) is not correct explanation for (A)

. Q) oo (R) 5852, (A) 8 (R) 533 956 5O
2.

(A) is true. but (R) is false
(A) 5838, 2 (R) 5536 =

3. %

(A) 1s false. but (R) is true
(A) 5856 =th, =9 (R) 5056

Question Number : 32 Question Id : 6404119952 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The scientist (s) indentified the ratio between adenine and thymine and that
between guanine and cytosine are constant and equal
&S, PHS DB MRS, ETRY B8 Y ddore Svdegorr aownod €
3D G/ e

Options :

Friedrich Meischer

E’g@‘f SoonRs

Watson and Crick

TS Sobakw 885
2. %

Erwimn Chargaff

D8 S TErH
3. o

Wilkins and Franklin
)N 0Bk ([@0S

4.%

Question Number : 33 Question Id : 6404119953 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correct statement in the following
BodaRS® $BGTE Tro=erd o
Options :
In Griffith’s transforming principle, digestion with DNase did inhibit
transformation whereas proteases and RNase did not affect
transformation.

(DS $858S [a@rrres® DNase 8 £800308:3t $858% M5°GosnaKs.

=

=D ErédhE S58ak RNase o $6585% ewoo Sess.



Virus grown 1n radioactive sulphur contained radioactive protein and
radioactive DNA.
Sa&r oS Ke5E° 1BAK BEhen SEG aRF DR ARy, S8&r a°D
DNA 294 sso&to.

Virus grown in radioactive phosphorous contain radioactive protein and
non radio active DNA.

Sa&r oD SRS 1BAK TS Ta@r oD (B S8
B&&Er oGS 80 DNA 4o

3. %

Mice infected R strain die from pneumonia, but mice infected from S
strain do not develop pneumonia.

R 93550 20E00d8 dedes Qar oD S0l =, S 95880 ‘éo{’_.fé:caé

, YoSed AERRCEe DT,
4.

Question Number : 34 Question Id : 6404119954 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Action of restriction enzyme leads to the formation of sticky ends in both
vector DNA and Foreign DNA because of

BRSNS JoBD SGSes ardes DNA Hbcn derdah DNA & Sodoass Ssen

=

Recognise palindromic nucleotide sequence.
FDOEH IrEErSE SHIESre HhoStu.
II. Cut the strand of DNA a little away from the centre of palindrome site.
DNA 8#:568 a#0olE S Lo SErrIS oo SrS0d® TS 2hHHobd.
III.  Help to form complementary cut counter parts.
J0PSE wHER Flie aonEnd S5 khe
Options :

| % Lonly
, » 1 only

Iand II

. LIL IO

Question Number : 35 Question Id : 6404119955 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Bond formed by DNA ligase
DNA fgﬁfé QBB oo
Options :
Hydrogen bond
| E=S wogo



Glycosidic bond

08285 aofo
2. % 5=

Phosphodiester bond

SRR
3‘¢ cr,'ra—:’.io{é_’@ EJOCéO

Peptide bond
L 3‘%5 2080

Question Number : 36 Question Id : 6404119956 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Correct Marks : 1 Wrong Marks : 0
Match the following

S0l e eeizitoihain

List - A
S -1
A, cayIl Ab i
B. cry L Ab 1T
& RNAi 111
D. Bt cotton Iv.
Bt =08
Options :
- A-IV, B-III. C-1. D-IT
A-IT. B-III. C-TV., D-I
2.
A-II. B-IV. C-I, D-IIT
3. %
A-III. B-II. C-L. D-IV
4, ®

List- B

S5 - 11

Resistance to pest

deg 2885

Control Bollworm

&*Sarf) D678

Control cornborer

58 &°65 dabo|gdes

Prevent nematode pathogen

oyt amBE _m ey e 5
DaneF G cu';‘\l{?; cn.-di;Ol_? £
(3]

Yes

Question Number : 37 Question Id : 6404119957 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Match the following

[S0b 6T e85

List- T List - 11
(Transgenic plant) (Resistance)
g -1 S - 11
(e»S)BIE 3w (B FEs)

A Papaya I.  Phvtophthora
&m0 el vied

B. Bt cotton II. Ring spot virus
Bt 5& BoRames S0

C. Tomato III. Insect
e Eerseen

5 Potato IV. Psendomonas
BOMPELHOS ArEEErTD

Options :
A-II. B-IIIL. C-IV. D-1

A-IL B-TV. C-IIT. D-1
2. %

A-IV. B-IL. C-III. D-I
3%

A-I, B-II. C-IIL. D-IV
4. %

Question Number : 38 Question Id : 6404119958 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correct statement among the following
338 edoogredd HHohin

L Wheat —— Pusa komal —— hill bunt
R — 3 e 558 3 E=Smo

IL Cauliflower —— Pusa Shubra —— Black rot
=OHI8 — > Bl —— gl

III.  Chilli — 5 Pusa Sadabahar — s TMV
o8H — Frar dorassb —» TMV

IV.  Brassica — Pusa Swarnim — Bacterial blight
Yaren — > SPAr o —> aréacii}a‘? gef

Options :

I and IIT

1. %



1T and ITT

2.

Tand II
3 0%

I and IV
4. ®

Question Number : 39 Question Id : 6404119959 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Microorganism that improves nutritional quality of curd by increasing vitamin

o]

12

DODS B, @i Jahero oo DS HHE Dend Do TD g

Options :
Saccharonvees cerevisiae

| x TR0 IS 2008

Lactobacillis bacteria

) o ET’E’SGFM D aré@oi:c

Propionibacterium sharmanii

{ﬁ%cﬁﬁ&‘)aﬂgﬁoﬁo 336503

Pencillium notatum

o

L abo Fedo

Question Number : 40 Question Id : 6404119960 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following

\éOCJ TED sdntih

List-I List-IT
263 -1 2563 - 11

A) Enrich nutrient quality of soil I) Bioreactor
SpBss® Ssed® SrSodo o@TBaFEE
Jahiso

B) Kill insect pest II) Biogas
Hisen 5903 dose wE50 BRand

C) Decomposition of dung to III) Bio fertilizes
prc:-duce as £5 Qtisyen

e ilgoﬁj DFo 52

oS Sars 3cﬁm“

D) Growth of large no. of IV) Bio pesticides
microbes on Industrial scale #5 Sbsardsrm

Sro|E o D58 Indod”
Krg d e Dofrohohey

K

Options :



A-TTT. B-IV. C-II. D-I
1.9

A-TIIL, B-IL. C-IV. D-1

2. #®

A-TIL, B-I, C-II, D-IV
3. %

A-TIL B-I, C-IV, D-I
4. %

Zoology

Section Id : 640411219
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 640411219
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 6404119961 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Find the mismatched pair
(Bod =Q&° $B=0 adH KHBoSod.
Options :
In-situ conservation - National Park
e ééﬂ&r—}gé otk — w=ch &)
Ex-sifu conservation - Botanical garden

Q@aﬂ”?a do8¥e - TerRES 3o

2. %
In-situ conservation - Seed bank
Jaard So8¥es — adr o

3. = = 2]
Ex-situ conservation - Cryopreservation
Yo e $odkn - BBt BS
[43] = o, (%)

4. %

Question Number : 42 Question Id : 6404119962 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The species diversity between two adjacent ecosystems is
I £S5 FT0ed® &) erdhe o
[ Y (=8 oL ol

Options :
o -diversity

= o -850



p -diversity

p -82a550
2. ¥ =

v -diversity
- Y -850

J-diversity

§-32¢%0
4, ®

Question Number : 43 Question Id : 6404119963 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : In cellular level of organisation different types of cells are
functionally isolated.

L& so (A) : Ze 55030 é&&é%f&wé‘g D9Q Bzre Eorren @dﬁ:ﬂégﬁom DHES
Job sodrom.

Reason (R) : This is due to the absence of sensory cells and nerve cells.

==8wo (R) . e 8 Lo, b Eoren %208 dotron.

Identify the correct option from the following
(Bod T&S° $B @i WHBotol
Options :
A) and (R) are true. (R) 1s correct explanation of (A)
P
L, (A)mea (R)deo. (A)8 (R) <38 958

(A) and (R) are true. (R) is not the correct explanation of (A)
(A) Sh8ao (R) dzo. (A) 8 (R) 388 D558 =%
2. %
(A) 1s true, but (R) 1s false
(A) Qez0, =0 (R) Qezo =%

3. %

(A) 1s false, but (R) 1s true

. (A) Dez0 ==&, == (R) Qo
4.

Question Number : 44 Question Id : 6404119964 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Statement-I : Areolar tissue forms supporting frame work for lymphoid organs.
wodo | - DB@ErerS ¥orvo Sarsrored dﬁﬂw@@;} Hgo e O6)E Botnod.
Statement-II : Reticular tissue forms the packing tissue in almost all organs.

wo¥o 11 . cre¥ B0 TEEs) &'zé& widhTe% 8ol Xnreorr &onod.

Identify the correct option from the following
Bod =8° $p% 2R KHBoSos

Options :



Both statements (I) and (II) are true

wozren [, I S35

1%
Both statements (I) and (IT) are false
wozeen I, II 588D ==
2.
Statement-] is true, but statement-1I 1s false
s x @odo [ Q=0, =8 Il Qa0 =%
Statement-I is false. but statement-II is true
@wodo [ Quo =%, == II Qa0
4. ®

Question Number : 45 Question Id : 6404119965 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In these leucocytes. nucleus is kidney shaped.

& By 68 Sered® So(o SirlEdhomrsrEost &otnot.

Options :

Lymphocytes

DogFpey

Monocytes

- e

Basophils

DEDSen
3. %

Neutrophils

L% gD Sen

Question Number : 46 Question Id : 6404119966 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The following are the names of larvae of certain phyla. Identify the larva (e) that
belongs to Annelida.

8ob B Sred Jobd Lo 8 Bakprron. 8T 30D Joh dogﬁsv‘f:g{’
i}

Godisrach HBodod.

I) Parenchymula II) Planula
Eelelshnilag apier
IIT) Miracidium IV) Nauplius
DoSHESHO TREDHE
V) Glochidium VI) Trochopore
EdHEaho Bicicete]
WVII) Bipinnaria
B padr

Options :



VI

1.v
v
2. %
[L.II
3. %
I, IV, VII
4. ®

Question Number : 47 Question Id : 6404119967 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following
8ob HY 22800008

Body cavity Phylum
Gdrto Blelo
A) Acoelom I) Mollusca
B8 Birdo dnesr)
B) Pseudocoelom II) Nematoda
gy #06 HFBo e
C) Schizocoelic coelom III) Echinodermata
DS Hirdo IPSPeser
D) Enterocoelic coelom IV) Platyhelminthes
eole $56 HiFto égﬁ%:ﬂ@@p@f)
V) Cnidaria
Hlelelov)
Options :
A-TV. B-V. C-II. D-L
1. ®
A-V, B-L C-III, D-IV
2. ®
A-TIL B-L. C-IL. D-IV
3. %
A-TV. B-IL. C-1. D-III
4. ¢

Question Number : 48 Question Id : 6404119968 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Ammocoete larva is formed during the embryonic development of

oIS Gogko 6 homdHee® Hghob.
) It )

Options :
Petromyzon
o

T gbezee

1.¢

Myxine

o
) % ca)i..v



Amphioxus

@oPHAPHS

3. %
Pyrosoma
4.8 =

Question Number : 49 Question Id : 6404119969 Question Type : MCQ Option Shuffling

Correct Marks : 1 Wrong Marks : 0

Study the following and pick up the correct combinations

= 250 i =
(Bob wozre egidhsdo U, I8 heDosHen rHBodod :

: Yes Display Question Number : Yes

S.No. | Group Salient feature Example
S.80. | SSumdo gy ©EBo OoERsen
I) Aves Pneumatic bones Columba
agen THETDeD Sooar
IT) Mammalia Corpus callosum Macaca
d5meen =58 2620 shsese
1) Reptilia Epidermal scales Calotes
$65aren DryS Sreniien 56785
V) Chondrichthys Cartilagenous skeleton Scoliodon
scolB8H E’J,tJ(ﬁJ"J"'% @%aﬁoaféo i esriarol
Options :
I only
Lo R
L% I Sim(esad
I and IT only
L. I &w(e83h
2. % B
L. I and IIT only
L I, IIT &5(8ad
3. %
LI IIT and IV
LI OL IV
4.

Question Number : 50 Question Id : 6404119970 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Flagellum in Peranema is of this type

Do 89 Swegio &% 5508 Johehob.

Options :
Stichonematic

2EDSTAE
E

Pantonematic

POEPDSTHE

2.¥



Acronematic
DB RETAE

3. %
Pantacronematic
FoFEDSrEE
4. ®

Question Number : 51 Question Id : 6404119971 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Bmary fission in Paramoecium is called perikinetal fission.

D8do (A) . DODEADo S5 Errad B 2BBINS NG wotrd.
) RaJulie = e
Reason (R) : Plane of fission in Parameecium is at right angles to
longitudinal axis of the body.
=0 (R) : Dod&abo 67 DY) Swo Biro wchE w58 woa §mod®
G008,

Identify the correct option from the following
(Bod a8 533 pHsRY HGoBod
Options :

(A) and (R) are true. (R) is correct explanation for (A)
. (A) o (R) D=0, (A) 8 (R) &84 2:58w
1. B

(A) and (R) are true. But (R) is not the comrect explanation for (A)
- (A) ZhBain (R) D=0, (A) 8 (R) 485 258m ==

(A) is true, but (R) is false
- (A) 2zz0, =02 (R) Jmo =2t
(A) 1s false. but (R) is true

4% (A) D=0 =9, 50 (R) deso

Question Number : 52 Question Id : 6404119972 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following

Eob &0 sadodod

List-I List-TT
S5&D-1 StoR-11
A) Parasitic castration I) Plasmodium
SES S“-:%:\ﬁ FaSGabo
B) Gigantism IT) Fasciola m sheep bileduct
eHoDE 0 RS oo’ Jeddirer
C) Hyperplasia IIT) Some viruses
Eislebn o &) Bsee Jdnen
D) Hypertrophy IV) Sacculina
TER0EFE reyDae

V) Larvae of liver fluke
D356 8 GoglsEen
Options :

A-TV. B-I1II, C-II. D-I
1. ®



A-IV. B-V. C-II. D-I
2.9

A-L. B-IL C-V. D-IV
3. %

AL B-LL C-II. D-V
4. ®

Question Number : 53 Question Id : 6404119973 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Pneumonia is caused by

3

o o 2o
SR 6 SOR0TE.
)

[&

Options :

Salmonella

Haemophilus

g =
Fo T w5
v ® S

Rhine virus
; & O3S
Microsoprum

rCkvgete]
4.8 T "

Question Number : 54 Question Id : 6404119974 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Pick up the wrongly matched pair
Sajpre &) 228 Hodod :
Options :
Typhoid - Salmonella

Baronk - YT

Pneumonea - Streptococcus

SpFrASTE - (RYERER
2. % = s

Ring worm - Sacculina

TG - Erdae
3‘ \\? of

Filaria - Wichereria

38005 - &5d6air
4. ®

Question Number : 55 Question Id : 6404119975 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Statement-I : In cockroach. mycetocytes of fat bodies secrete fats.

040 1 : 5‘:@0%68:\.' lﬁa“é’oj”&{‘ o c.JurufD r\)uJJ |§“6 \'° BNy ruo..r::]“OI)
Statement-II Haemm.yts in cockroach are phagocytic.
wodo 11 : EPEoSE™ Farpey ¢58 Soren.

Identify the correct option from the following

(808 BE° 5B nihseR) hBodos

Options :
Both statements (I) and (II) are true

ewozeen I I 53:38
1. *

Both statements (I) and (II) are false

, ©oTm I, IT 5858 s°a3
2.

Statement-I is true, but statement-II is false
wodo 138858, o0 11 4056 s°th

Statement-I 1s false. but statement-II is true

wodo 15830 ==, =0 I 836
4.

Question Number : 56 Question Id : 6404119976 Question Type :

Correct Marks : 1 Wrong Marks : 0

Metamorphosis in cockroach is

&5056% ErHBoh

Options :

Ametabolous

m‘wwﬁﬁdm

Hemimetabolous

e i =y
_— ranahesieR

Holometabolous

FFDhaaton
3. %

Paurometabolous

ToerFeoR
4.«

Question Number : 57 Question Id : 6404119977 Question Type :

Correct Marks : 1 Wrong Marks : 0

MCQ Option Shuffling : Yes Display Question Number : Yes

MCQ Option Shuffling : Yes Display Question Number : Yes



Which of the following statements about competition are correct ?
B0 HBoDS Bod woTed® HBID 29 ?

I) The competitive exclusion principle states that species with identical niches
can coexist mdefinitely.
Srdddo wdFonod) drFo (Pedo &8 DT SOAS erdben JEHoBorr Sod
g2od899.

IT) Resource partitioning reduces competition by allowing species to use
resources differently.
S350 Deess w6, erden SSHeH DHor eHErRoSEo T FED #hod
3(8ak.

IIT) Un related species can compete. if they rely on the same unlimited resources.
2.8 050808 S0 SrrdHGIap Y erde gy e £ athiheod.

IV) Competitive release occurs when a species expands its niche after a
competitor's removal

o Ddise w6

Options :

Tand IV

I SobBasn IV
1. %

IT and IV

I s08asn IV
2.

IIT and IV

IIT s5968ain IV
3. %

IT and IIT
I SoBcsw 1T

Question Number : 58 Question Id : 6404119978 Question Type : MCQ Option Shuffling

Correct Marks : 1 Wrong Marks : 0

Match the following

Bof 8 2800006

List-T List-TI
SHI3-1 SBoS-11
A)  Nitzschia I) Nekton
Dedezair Bl
B) Gerris 1) Plankton
A& D380
C) Notonecta IIT) Benthos
eI BogrD
D) H‘t-’(fi'ﬂw IV) Neuston
e St
V) Periphyton
DOPETS

Options :

A-TLL B-III., C-1. D-IV
1. ®

S FohoSadSop el &8 85 55 J5boDE Siko.

: Yes Display Question Number : Yes



A-V.B-1. C-IV. D-I1

2. #®

A-II. B-IV. C-1L. D-V
3.¥

A-II. B-IV. C-I. D-II
4. ®

Question Number : 59 Question Id : 6404119979 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
It is a green house gas
568 0 5 o
Options :
Methane
el

Ethane

D=

) % Zne

Carbon monoxide

SO araE6
3 % 2 =

Nitric oxide

FBE wBE
4% T T

Question Number : 60 Question Id : 6404119980 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Incisors are useful in cutting the food.
Ao (A) 1 Sodsre o) O8RS edrriDderon.
Reason (R) : They are chisel shaped.

6o (R) @ 299 D esbod® Gotron.

Identify the correct option from the following

1806 &S E00 aihsedy hbodod
= (= M) oL

Options :
(A) and (R) are true. (R) is correct explanation for (A)
(A) S0ba (R) D=0, (A) 8 (R) 085 256w

(A) and (R) are true. But (R) is not the correct explanation for (A)
- (A) svoain (R) deo, (A)8 (R) #05 2:58: 2t

(A) is true. but (R) is false
3 % (A) Dezo, =02 (R) D=0 =oth

(A) is false. but (R) is true

(A) D=0 s0t8, 522 (R) deso
4.%

Question Number : 61 Question Id : 6404119981 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



High PH. low CO, and low temperature favours the shift of oxygen - haemoglobin
dissociation curve towards

95 P 85 €O, #3 &g w8 2aS-CaridS a@rs SE0y & IHD

Koaae -

2:0Me06" [Herdo drimron.

Options :
Left side

-~ =
OJ‘:S Eﬁ) gj 0\3:

1.

Right side

, x 5839

Remains same

o |HErao Gotth
3. %

Lower side
gob J5%

I o,
a—

Question Number : 62 Question Id : 6404119982 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The following are the layers of the wall of veins. Arrange them in correct sequence
from out side to inner side.

Htw Hod™ D 2GS srden ol aaﬁba:nr:gm 80 3enkd ol N8 [BN -;_éa‘ﬁjonﬁﬁ

2
Ehvvie)lelat
I) Endothelium II) Elastic lamina
w0t Yo RBPDE K580
III) Smooth muscles IV) Fibrous tissue layer
o0y Botsoren Hoecing Smere) &8
Options :
IV.II, I1. I
1.¢
I IL II, IV
2. ®
I, TV. L, I
3. %
IV.III. I, I
4. %

Question Number : 63 Question Id : 6404119983 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Study the following statements and identify the correct option.

(B0 wowred agiehdo 32, B3 adsea) rhbodod.
2l o EN) ol o

Statement-I : Atrial natriuretic peptide (ANP) is released from left atrium of

the heart.

wodo I : HoB g 5 808 S8 JB0HS To@ahroSs ?J?'.é)f'f (ANP)
athtiosdod.

Statement-II : ANP can cause vasodilation.

wodo II :  ANP 5578 a8 oed) SOAK08.

Options :
Both statements (I) and (II) are correct

wozeen I, I 53852

Statement-I is correct. but statement-II is incorrect
wodo 138758, =°A I 5006 st

2. %
Statement-I is incorrect. but statement-II is correct

wodo 1 &858 s, == Il &858
3.¢ - -

Both statements (I) and (IT) are incorrect

, PoTw I II 5052 523
4.

Question Number : 64 Question Id : 6404119984 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following :

1808 =80 2285530 ¢

List-I List-II
Stos-1 StS-11

A) Radius. ulna I) Hind lumb
o8, edsy Sdsrorio

B) Tibia. fibula II) Pelvic girdle
ariotng, @osbaoing (Feehahae

) Scai;ula. clavicle IIT) Fore lunb
DoNpes0, s sromonio

D) Thum. pubis IV) Cranium
-S"a:.u%, sl &3rer0

V) Pectoral girdle
&8 Dhne

Options :
A-III. B-1. C-V. D-II
1.«

A-TIT, B-I. C-IV. D-II
2. ®

3 % A-TI. B-1. C-V. D-III

A-L B-II. C-V. D-IV
4, &



Question Number : 65 Question Id : 6404119985 Question Type : MCQ Option Shuffling

Correct Marks : 1 Wrong Marks : 0

Study the following and pick up the correct combinations.

Bod =6 @cjécﬁjéo 2 3905 shEDosyei Mhbodod.

: Yes Display Question Number : Yes

S.No. | Spinal nerves No. of pairs in man Location
S.%0. | E3hardhen Sr3926° 6ol wde Sogy| wcld grilo
I) Cervical nerves 7 pairs Neck region
(Aa aethen 7 m8en Dis gerio
II) Thoracic nerves 12 pairs Thorax
&0: ST 12 2:dfen S50
1) Sacral nerves 5 pairs Lumbar region
(638 eeSen 5 a:éen 58 griio
V) Coccygial nerves| 1 pair Caudal region
|88 arten | =t s g0
Options :
1.1
1. ®
IL IV
2.
II, 1L
3. %
L .IV:
4.%

Question Number : 66 Question Id : 6404119986 Question Type : MCQ Option Shuffling : Yes Display Question Number
Correct Marks : 1 Wrong Marks : 0

Match the following

B0 =&Y 28550508
Gland
od

A) Thyroid gland

@530 (106

B) Adrenal medulla
whshF) (1o S
C) Pimeal gland
509G (Hob
D) Pancreas
850
Options :

A-I. B-IV. C-II. D-V
1. ¢

A-III. B-V. C-V. D-IT
2. %

A-V, B-IL. C-IV. D-1
3. %

Hormone
S
I) Calcitonin
=08
II) Melatonin
Doefns

III) Thymosin

FarRS

Nor epinephrine
76 whaBhe
Glucagon

HrEseiie

: Yes



4% A-TV. B-1. C-II. D-IIT

Question Number : 67 Question Id : 6404119987 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Second messenger primarily involved m the action of adrenaline is
GOSN S5y8° dah arterr HATO
Options :

L cAMP

Question Number : 68 Question Id : 6404119988 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which enzymes play a key role in target cell destruction during cell mediated
mmmunity?

~

Zoo Q%88 el ds” ofr Swo NS (Perdorr &SI doBmen O ?
Gt o T Tibem 0 —
Options :
Perforin and catalase

258585 $8c%n LTS

1. ®

Lysozyme and catalase
SRS 085w BedE

2. %
Granzyme and helicase
(TSES $08c5» 028

3%
Perforin and granzyme
2EPBS LB (TRES

4.¥

Question Number : 69 Question Id : 6404119989 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

These are involved in differentiation of cells of immune system.
89 5°HO5%E Stre DPEH0E S Eron.
Options :
Interlenkins

1« motberdSen



Interferons
) % motbporaen
Immunoglobulins

”JﬁmJJ"m eagdS RE
3. %

Complement proteins
S05008 B85S

Question Number : 70 Question Id : 6404119990 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A): Sertoli cells provide nourishment to developing sperm cells.

Ygo (A)  : ToSmre w0 Tomdd) DIE Sy i Sgrean,
Reason (R) : Sertoli cells secrete testosterone.
s60 (R) @ 28 08eren SPHTSS Haran.

Identify the correct option from the following
(8o a8t 58D S gveleialelel
Options :
(A) and (R) are true. (R) is correct explanation of (A)

(A) 5805 (R) £059. (A) 8 (R) 505 D566

(A) and (R) are true. But (R) is not the correct explanation of (A)
(A) =06 (R) wao._.a (A) =] (R) c\JElm HElalol=clny]

(A) 1s true. But (R) 1s false

(A) 5856, =0 (R) 5956
3. -

(A) 1s false. But (R) is true

(A) 5856 =0, 522 (R) $p56
4. ®

Question Number : 71 Question Id : 6404119991 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

These are not the accessory reproductive glands of female (in human beings)
B |l§\_ 2HJoOEH ®Hnod (fofhen 52D (Frssed’)
Options :
Bartholin glands

- erB 08 (ffothen

Greater vestibular glands

& @80f |fogfhen
2. %

Skene glands

28 (Hothen
3. %



Cowper's glands

56 (Hodhes
4.¥ o5

Question Number : 72 Question Id : 6404119992 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is an intra uterine device (IUD) ?

(o6 et KomEciross FuSo O ?
- e

Options :

Copper-T
v 556 -T

Vault

2. % =

£

Cervical cap

riozdas Sty s

3. %
Implant
(H&arHso
4% %

Question Number : 73 Question Id : 6404119993 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Correct Marks : 1 Wrong Marks : 0

If father has blood group A (heterozygous) and mother has blood group B
(homozygous), these blood groups are not expected in their children

doll 68 $%o A (D chorfmo), $9 55580 B (Do) wond a0 Sozrsod®

&5 SESTren 608
Options :
AB. O

Question Number : 74 Question Id : 6404119994 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Study the following regarding genetic disorders and identify the correct statements.
s &:é?géw %80 Eod =&Q egabso 32 B8 woTe HBoSOE.

I) Cystic fibrosis follows an autosomal dominant inheritance pattern.

22E PEHD o3 ' E S 2irdE eNB08E VTR ©HI8H08.

IT) Thalassemia is caused by mutation affecting haemoglobin synthesis
$er@nPoird s=8mo SFRRTAS $oBhrd (Herddo T adBssto.

III) Sickle cell anaemia results from a point mutation in the §-globin gene.
B-TAS ayds® Hotd a&)BNEK0 Sod FESD L SELTHE Zenibhod.

IV) Phenylketonuria (PKU) is an X-linked recessive disorder.
$3585%r8cse (PKU) o338 X-DoK Sireif) #0888 ©5i8.

Options :
Tand II

I 508050 11
1. ®

1T and IIT

1T o8 111
2.¢¥

ILand IV
I So8c% IV

ITand IV
IT &o8cis IV

4. ®

Question Number : 75 Question Id : 6404119995 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following :
1808 8 e2a38d086 :

Karvotype of Drosophila Phenotype
(Do OGRS Sy EgeRLY
A)AA+XO I) Female
R £
B) AA+ XXY II) Intersex
Hdndon £9
C) AA + XXX III) Metamale
b £9
D) AAA+ XX IV) Metafemale
ob & £
V) Male

Options :

A-V. B-IIL. C-IV. D-TI
1. %



A-I. B-I. C-IL. D-IV
2. %

A-II. B-IV. C-1. D-V
3%

A-V. B-L. C-IV, D-I1
4.9

Question Number : 76 Question Id : 6404119996 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Haplo - diploidy type of sex determination is found in
DE-tRaH HBE DSy HorLes &28° soenob.
Options :
Wasp

v Bo&8K

Grass hopper

o % S0GS
Butter fly

- Heaes%8 Deng
Bug

4 ox 2

Question Number : 77 Question Id : 6404119997 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Inthe polluted area. Burmingham. black peppered moths were
abundant. In the non polluted area. Dorset. grey forms were

abundant,
Ao (A) = ey Lah ) e:.aéoﬁac%&@ﬁ S 1YY Sréen ofSorrd,

SN BEE N C;D‘dp}e‘f@s adt dorh s efEored Ganon.

Reason (R) : Natural selection.
s=teo (R) D958 Stmo.

Identify the correct option from the following

(Bob r&E” H83 wlyseRy hioSos

Options :
(A) and (R) are true. (R) is correct explanation for (A)
” (A) 0Boin (R) a0, (A) 8 (R) {85 D3des
1.

(A) and (R) are true. But (R) is not the correct explanation for (A)

(A) 5hbow (R) e2o, (A) 8 R &8 2588 =oeh
2. %

(A) is true. but (R) is false

. (A) D220, 502 (R) D20 520
3.



(A) 1s false, but (R) is true
4 % (A)J=o =oth, =22 (R) D=0

Question Number : 78 Question Id : 6404119998 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Ontogeny repeats phylogeny. It was the

2.8 £ 408 S8 » £ 3PDseD SoED Hdvedo Tk, wh
Options :

Biogenetic law of Haeckel

78S (HBRH0DD £5 Ry sielzle)
1. %

Germplasm theory of Weisman

DTS @) @&;@56 drpodo
2. %

Mutation theory of de Viies
SR @08, 636553 Rpodo

10% law of Lindeman

DOBT GwE) 10% SeEo

Question Number : 79 Question Id : 6404119999 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following is a liquid tumor ?

Bod E" IBN56E ob ?

Options :
Carcinoma

1% S“Jméb

Sarcoma
FeBham

Leukemia

enBanair

3.
Lymphoma

4. % Doghir

Question Number : 80 Question Id : 64041110000 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Match the following :
|Bob T80 2dntSod

Stem cell types Examples
Swredere G8o AmEFSen
A) Totipotent I) Haemopoitic stem cells
P aFBoeS 55rsron@S seotiseren
B) Pluripotent II) Zygote
SpoEraoss Soatngdaso
C) Multipotent ITT) Basophil progenetor cells
SEErHoE TS DFBOOE Seeen
D) Unipotent IV) Inner cell mass of blastocyst
oSeRErdods gy Gns) w08t S Samurado
Options :
A-II. B-L. C-III. D-IV
1. *

A-I, B-III. C-TV. D-II
2. %

A-TV. B-II. C-I1I. DI

A-II. B-IV. C-I. D-II

4.

Physics
Section Id : 640411220
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 640411220
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 64041110001 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

2/5.3
X

Q= T 1s the relation between different physical quantities and the errors
}:r

in the measurements of x, vy, z and t are 2.5%, 2%, 0.5% and 1% respectively,
then the percentage error in the determination of Q 1s

X
DD 88 oodHe DGy Howogo Q= HBAD X, Y, Z HOXN t Fodest

yat
GParen SBJIT  2.5%, 2%, 0.5% Hoan 1% eawd, Q 8808 &% w80

Options :



Question Number : 82 Question Id : 64041110002 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The displacement (s) - time (t) graphs of two bodies A and B are shown 1n the
figure. The ratio of the velocities of the two bodies A and B 1s

A 5000 B o3 BotH Shde FSgodo (s) - oo (1) rHed 5008° rsass.
©wod @ Botd FDen AHoan B Jrre 3Z8

Y
w

Options :

I:\/g

1. ®

2:\@

2.

\E:I
4

3

Question Number : 83 Question Id : 64041110003 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Rain is falling vertically with a speed of 36 m s~ and a boy is moving on a
bicycle with a speed of 20 m s™! towards south. The angle with the vertical towards
south with which the boy has to hold an umbrella 1s

&&e: 00RO 36 m s HBF HHHF) SBoS® a8 erencd 20 m s 588" 58w 0F
SDH 28S s IYDHTYD. © wretd PN K880 T §82 ©0208° HeRE KRS

%

€0

Options :

Question Number : 84 Question Id : 64041110004 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

An aeroplane flying horizontally with a speed of 720 kmph at an altitude of
490 m drops a bomb when it is just vertically above a target. The horizontal
distance between the target and the pomt where the bomb strikes the ground 1s

o.¥ d5r$o 720 kmph 288 490 m 28:¢° E8a SSrodSorr N ¥
of ol E‘,@u@m@m QA ¥ wrowni 8T e.:;:aﬁ)ﬁ. rocn Jeh =85

HotHHH & Em JHross Erdo

1200 m

2000 m
3.«

4 % 800m

Question Number : 85 Question Id : 64041110005 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



A balloon of mass 'M' 1s rising up with an acceleration 'a'. In order to triple its
acceleration, the fraction of mass to be removed from the balloon 1s
(g - acceleration due to gravity)

'M' ($5g0e8 o a8 Bors @ BBe08° P8 EHeoHND. TR BWerR) St Béy
Jane®H © BorS Hod Fonomd)d (B5&5o°8 griio
(g - gy &&es0)

Options :

=]

3. °

Question Number : 86 Question Id : 64041110006 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A force of 10 N acts on a body of mass 2 kg in the direction of motion of the
body. If the velocity of the bodyatatime t=01s 13 m s! then the velocity of the
body at time t = 35 1s

2 kg (@308 Ko a8 $539p 10 N aoo 3809 KHS 6d6° S9TanDHHD. o0
t=0 3¢ 559 30 13ms ! ewond, scwo t=3s 38 & 559D 3o
Options :

. 20ms !

24ms}

28 ms !
R4

32ms!
4. %

Question Number : 87 Question Id : 64041110007 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

A body 1s dropped freely from a height of 8 m from the ground. If the coefficient
of restitution between the body and the ground 1s 0.5, then the maximum height
reached by the body after second impact with the ground is

a8 0D g8 8 m 2 ok fjsi.)’jﬁ“ DDFEI. D) 00D GRS 0y
©EgarS eeso 0.5 @and, D J0D BoEIFO T8S SHhard IHBHI) KOG &

Options :

2Zm
1.33

0.25m

2. %

Il m

05m
4. &

Question Number : 88 Question Id : 64041110008 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A bomb of mass 12 kg at rest explodes into two pieces of masses 4 kg and 8 kg.
If the velocity of 8 kg mass is 6 m s~ then the kinetic energy of 4 kg mass is

3{)@%}3@@5 &) 12 kg ((5350°8 rfo &8 eroen 4 kg 00an 8 kg ((5oeden re Botd
grridwenre V%[5 Boddd. 8 kg (o8 Ho grifo 3o 6 ms!, wowd 4 kg
(B8 e grrio Mee: 88

Options :

248 J

Question Number : 89 Question Id : 64041110009 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



If the mass and the radius of a solid sphere are 0.22 kg and 20+/5 cm . then its

radius of gyration about 1ts diameter is

o8 Do yo Q) ((3350°8 000 aﬁ;cﬁvgo AHJe 0.22 kg HOaw 20\/§cm,
©d PR T30 SBorr e (g o?éﬁ“go

Options :

20\5 cm

1. ®

20\/5 cm

2.4

40\5 cm

3. %

20\/5 cm

4.%

Question Number : 90 Question Id : 64041110010 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The angular velocity of a circular disc rotating with uniform angular acceleration
increases from 20m rad s~ to 50mrad s in a time of 10 seconds. The number of
rotations made by the circular disc during this period 1s

DY BBee0d® Do TawDHI) ef HEss DY) s*dad o 20m rad s7! Sood
50mrad s % 10 D80 200 BOAKD. © SHAH0S Hoss HY) IS Ghere
Bogy

Options :

. 125

1.

150

2. %

175

3.

200

4, ®

Question Number : 91 Question Id : 64041110011 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The ratio of kinetic energy and total energy of a particle in simple harmonic
motion, at a point where the displacement 1s 30% of its amplitude 1s

JBY FoeEE Sos06® &) &8 Bwo Ay igé@o%o a8 Doty I T BodI
30088 30% wond, & HoHD I8 @ M&es I§ 00 Zo €5 @AY g

Options :

91 :100
1.

49 : 100
2. #®

81 : 100
3%

51:100
4, ®

Question Number : 92 Question Id : 64041110012 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The time period of oscillations of a spring of force constant 65 N m™! with its
upper end fixed to a rigid support and carrying a mass of 650 g at its lower end 1s
nearly

65 Nm ! a0 %paovoéo e a8 @j.oﬁ DB &8 cﬁe}é T8 M09, (8ol DIBH
650 g (53550°80 dRoDTD. [RYOF T GooTre BIBS 0 DIRGHT

Options :

314 ms

1. ®

628 ms
2V

157 ms
3. %

1256 ms

Question Number : 93 Question Id : 64041110013 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The height at which the weight of a person becomes 25% of his weight on the
surface of the earth 1s

(R 1s radius of the earth)
e.5 aﬁﬁ grBo & 0o o @& grords 25% @(ﬂaé SNV
(RE - ¢ w&?}ﬁgo)

Options :

3.¢¥

2R

4.%

Question Number : 94 Question Id : 64041110014 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Three steel rods having lengths L, 2L, 3L and cross-sectional areas A, 2A, 3A
respectively are joined in series to form a single straight rod. If the compound
rod 1s subjected to a stretching force F, then the increase 1n its length 1s

(Y - Young's modulus of steel)
SBdre L, 2L, 3L sriden 0dasn A, 2A, 3A s'wc,ﬁﬁjcf) DTTED o Somth &%)
sGod FAS® 50 &8 83 $hrr D, & Yod@ri 863 F1ED vwo F J @@enods,
e DEHS® OGS
(Y - &%) ahof reego)
Options :
13FL
2AY

1. ®

FL
AY

2. #®



OFL
AY

3. %

Question Number : 95 Question Id : 64041110015 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

An incompressible fluid 1s flowing through a horizontal Y-shaped tube as shown
in the figure. The velocity (v) of the fluid in the tube of area of cross-section
1.5Am? is

a8 @éogac% P Y-sso808® Ko a8 S@es JIr0BY QO TRo 5608 BRI

o

Qesore (HIPod. eowd 1.5A m> a’wcﬁgéj Teg0 o W%o@i" Haeer o (v)

Options :

Question Number : 96 Question Id : 64041110016 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The nature of the graph between the temperature in Fahrenheit and Celsius values
18

a8 ﬁ%{fﬁé D0E), ETEreT S0 ?oé;gciﬁﬁ@@s?{) Qende D&y (e JggrRo

Options :

a parabola

. 2.8 Jordecho

an exponential curve

&8 Jrsos Jigo

2. ®

a sine wave

2.8 DO SBoiso

3. %

a straight line

o8 D50

4.

Question Number : 97 Question Id : 64041110017 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the relation between the absolute temperature (T) and volume (V) of an 1deal

gas which expands adiabatically 1s T « L then the ratio of the specific heat
A%

capacities of the gas 1s

a8 B8Y) T JO°RE B8 SJIHPD, TR HBD &PHE (T) oo

J3B05ee0 (V) © gy Sowogo T o ODB, © TANJ 3%@5&3 N—"'@éjvogns@

1
NAY
58

Options :



1.4

2.0

4.%

Question Number : 98 Question Id : 64041110018 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Two moles of an 1deal gas undergoes a cyclic process as shown in the figure. If
AB 1s an 1sothemal process at 223 °C, then the net work done in the complete
cycle 1s nearly

(Universal gas constant=8.3J mol ™' K™ and take In(2) =0.7)

5606° 2D Dore Both TrSo ok Traw SEah EEaHH 6°330. AB 3D
223 °C 58 sae@fiiee BB ©ad, Ido S HEADS® #0nS B HIFDOE
(F@S ot oroso = 8.3 Tmol™ K $0asn In(2) = 0.7 e 8:508™50sm)

P (Nm_z)
A
A
2000 [~~~
N
""" { |B
1000 G :
: ' > V(m’
2 4 ()
Options :
38107
1.9
S81017
2. %
781017
3. %
20007
4, &

Question Number : 99 Question Id : 64041110019 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



If the differences between the specific heat capacities at constant pressure and
constant volume of hydrogen and another gas are in the ratio 16 : 1, then the
other gas 1s

55 550 S0 P8 RS0 58 TS 20 DY o0 Gl DBPY
TR Pore B 16 1 eand, & HT°E o

Options :
nitrogen

eSS
L®
oxygen

@%&&5
2.«

carbon
S'-‘*éw‘ﬁ

argon

©TPR
4.% O

Question Number : 100 Question Id : 64041110020 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The mean translational kinetic energy of a gas molecule at a temperature of
47 °C 1s

(Boltzman constant =1.38 x 10723 .TK_l)
47 °C &SPIS S8 8 srain ey g difen Farodlen ride 38
(5°G28 Joogo =1.38x10 > JK ™)

Options :

138x10°4 7

138x10 4 eV

2. ®

414x1074 7

3. %



414x107 4 eV

4.
Question Number : 101 Question Id : 64041110021 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A closed pipe and an open pipe of same length produce 4 beats per second when
they are set into vibrations simultaneously. If the lengths of both the pipes were
halved, then the number of beats produced per second 1s

(Assume same mode of vibrations in both cases)

a8 PEHen BOAS a8 DS 0 SO0k 2.8 BEDS PO 2.8 0 B0R0BTOZTIPL
2.8 DEIDDH 6EE wond Adodzren 4. Tod repe DEIHO[ Jo B1I, EIHD
&8 00N AOLT® Lo

(BotHd c‘()OCﬁfjeJUﬁﬁ)@%@ &8 50530&Hen eI grHowHIw)

Options :

8

1.¢

Question Number : 102 Question Id : 64041110022 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the length and magnification of an astronomical telescope are L and 8
respectively, then the focal length of its objective 1s

2.8 ity nvlelatey IR vilatvivielonty ©3B30 I L s00asn 8 eond, & Erdid)R &S5
gex8o me;rgoédo |
Options :
L
9

1. ®

oo |

2. %



9
3.

L
4. % 8

Question Number : 103 Question Id : 64041110023 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the intensities of two interfering light waves in a medium are I and 41, then the
maximum and minimum intensities are respectively

&8 diPI80® $B8Bm0 Bokhhd) Dot P08 Sdorre S@den IHoam 41 wand,
Ko S0 S5 BSses SHB™

Options :

Question Number : 104 Question Id : 64041110024 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

: : : d
Three point charges +Q.q and +Q are placed on x-axis at distances (., — and

“

d respectively from the origin. If the resultant electrostatic force on the point
charge +Q placed at x =0 1s zero, then the value of q 1s

e oty Dok x-wgoD 0, % 00w d drore Eécmﬁ A3 +Q, q HOAX» +Q
<

0 e Hoth sdren sodadaran. x =0 56 €5:3) Dotk s3d0 +Q D HOS 20
DS 200 HoT) @ond, q Dend

Options :

oL
2



N | O

2. %
_Q
4

3.¢
L Q
4

4, %

Question Number : 105 Question Id : 64041110025 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If five parallel plate capacitors are connected to a battery of 240 V as shown in

the figure, the charge on 1 puF capacitor 1s

0 JIPoBY Hese 3RO H0oS® HrDS dForr 240 V exelds” Seodads,
| UF 33206003 w3do

2 MIF
|
1
3uF 4uF
| |
lull?l
1]
240V
-
12pF
Options :
480 nC
1. %
80 nC
2.
160 uC
3.
240 pC
4. %

Question Number : 106 Question Id : 64041110026 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



A 10 nuC charge 1s placed at the vertex A of an equilateral triangle ABC of side

2 m. The work done in taking another charge (3 + 3 )uC from the mid pomt of
side BC to the mid point of the side AC of the triangle 1s

10 pC es3850:50 2 m ghazo Ko a8 Dverdd Bebzo ABC g %6&10 A 38 oz
(Bgheso TwE) gha:o BC sngy othay ok, gheso AC oG Hothadsd hHT™s 93850
(G+3)uC B EOF DY BaHBORS B

Options :

012 F

1. %

Q27 d

Question Number : 107 Question Id : 64041110027 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The ratio of the currents 1'1, 12 and 1',1, in the given circuit 1s

a506S S0aHod®d DS (Hardten 1), 1, HO0N i;© Y

1
PO eB(0V)
20 Q
70V 10Q
& - AN L5 D
A 1
13
N— = e C(10V)
30 Q)
Options :
- 129 E]
T Sl |



(sd
[a—
(O

4. ®
Question Number : 108 Question Id : 64041110028 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If a generator of emf 440 V and internal resistance 400 Q) 1s connected to an

external resistance of 4000 Q2, then the potential difference across the external
resistance 1s

emf 440 V 50am ©080)5°%0 400 Q o &8 250080 4000 Q e=dey 6°508
5023, sy Ao DS iy PHYCHS Bo
Options :

. 220V

440V

2.

200V

3. %

400V

4.¥

Question Number : 109 Question Id : 64041110029 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The magnetic field at the centre of a circular coil of radius 10 cm, having

. . 8 . .
250 turns and carrying a current of — A 1s
s

. 8
250 e, 10 cmaesrgo o a8 HEeses 8 Sy — A Diigd (©HaetY) SOAYT,
' n

© &1 i Solo 5 ehIod o

=

Options :

0.5 mT

1. ®

8 mT

2. %

4mT



2mT

4. ®

Question Number : 110 Question Id : 64041110030 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If an electron and a proton enter normally into a uniform magnetic field with
equal kinetic energies, then

BEPSHS 182 508 &8 JOFT DO o8 (BerS &8 D808 euhIed o &°08
©0R0orT (HIB0DS
Options :

the electron travels in circular path of less radius.

&)@stﬁ SENSI a7 f‘ﬁfﬁo o Szeses D508 (HAPB00.

the proton travels in circular path of less radius.

. EPerS B 5o o Hzses D508 (HARBR0E.

both electron and proton travel in circular paths of same radius.

5)@@*35 00050 (DS Bokr &8 TG0 o Hhesey Hees® (HATeBIRon.
(] @ e —= )

both electron and proton travel in straight line path.

@@@5 20005 (DPerS Bolr Eree SEE0T a’mgo@& (DS 00.

4.%

Question Number : 111 Question Id : 64041110031 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the magnetisation of a material 1s M and the magnetic field in the material is B,
then the magnetic intensity is

(1, - permeability of free space)

&8 SEB0G°R ©dhIOBE M eh0dhn Jurgos® euhmed o B wowd, edbrod
855

(;.t aﬂ\oéov%’o Foog), GEHAOE)

Options :



B-pM

BM
,« Mo

HoM
B

Question Number : 112 Question Id : 64041110032 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The energy stored in a coil of inductance 50 mH carrying a current of 2 A 1s

50 mH (2868830 o a8 8rihed® 2 A DS (582005, PACho Jey ot 48

Options :
117

1. ®

D:1.]

2.¢¥

Question Number : 113 Question Id : 64041110033 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A 100 Q) resistor, a S0 UF capacitor and an inductor are connected in series to an

ac source of frequency 50 Hz. If the circuit is in resonance, then the impedance
of the circuit 1s

a8 100 Q 26°550, &8 50 UF 332600 Hoahn a8 @Jééocﬁa {fgtﬁﬁa 50 Hz @"’5682@}550
Mo a8 ac 2dsed8 SO, ©@ Jouho @artod® ¢J), J0tHoEtd @St o

Options :

100 Q)

1.¢



. 200 Q

2.

180 Q)

3. %

250Q

Question Number : 114 Question Id : 64041110034 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the magnitude of the electric field of an electromagnetic wave in a medium 1s
given by E = 10~/ sm(6x1 0°t—0.01 xX)N C !, then the frequency and speed of
the electromagnetic wave respectively are

(In the equation x 1s in metre and time t 1s in second)
o8 ordBos® a8 DERLADI0E BBois DS 58 H0&mee0

E=10"" sin(6x10°t—0.01x) N C}, o8 & D8 eaharmosd $sor 550
50050 S& SEBre
(38Be06° x b &° HBAH o0 t E0E &)

Options :
6x10°
T

Hz. 3x10’ ms~}

3x10°

i’

1

Hz, 6 107 ms

2.¢¥

3x10°
TU

Hz 3x10’ ms 1

4o
ﬂﬂz,leO—/ms_
T

1

4.%

Question Number : 115 Question Id : 64041110035 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



In a photoelectric experiment, when the wavelength of light incident on a metal
1s A, the maximum kinetic energy of the emitted photoelectron 1s E. When the

- - . - l'. - - - -
wavelength of incident light 1s —, the maximum kinetic energy of the emitted

~

photoelectron becomes 4E. The work function of the metal is
a8 P i F@Errod®, HEI0s BEONBY, S0 A VODSHPLD STREFS DPes®

A
@@@;5 HO% r&e: 4§ E. J83 5008 $8011BE 50 - 0o &Trpidhd Dbes® o'J@Ls?ﬁ
[5) = o0 3 oJ 0 o« 3]
103 e 3§ 4E oand, & &% I (Hibabo

Options :
he

A

1. ®

3hc
. A

2.

he
2N

3. %

he
3.

4.¥

Question Number : 116 Question Id : 64041110036 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The ratio of the wavelengths of the spectral lines in the Lyman series of the
hydrogen specrum when the transitions take place from 7™ and 9™ states to the
ground state 1s

785 S0k 95 c%;oaa@ Dok e,ﬁjvc%‘»;oaaé Q0[8Les0 2ONIIPD, TGS SYHE0 DY),
BT FBS°D Dpeo SvorBoy o VPG

Options :

245 : 243
1.

216 : 293



Question Number : 117 Question Id : 64041110037 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The ratio of the radi1 of the nucle1 of mass numbers 27 and 64 1s

@ééoﬁ% c‘éoa:agoa 27 00w 64 e éo@yo EnE) mﬂ*%o;e Q8

Options :

| o D

,x 43
&z 18

3. %
16:9

4. ®

Question Number : 118 Question Id : 64041110038 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the junction diodes D,, D, and D, in the given circuit are ideal. then the
value of current '1' in the circuit 1s

(For 1deal diode forward biased resistance is zero and reverse biased resistance
1s mfinity)

wé;w&aé Sochos® Dl, D, ss8cie Dae.:-:: @étﬁg $06 E@rEen ©ond, Sedhodt
(58708 D818 [Bomio 'I' Dends

(@Cﬁég Fetovsitad ci‘c.:-ﬁ; éﬁséﬁéo Q5°80 Do) SoBok 865%%0 25°80 wdoFo)

D
E\/I 1 MR
D, R
1 - A
[~
D
3 R
M ANV
1 3
: R
E -
I
Options :
2F.
3R

1.¢



zZero (ﬁaa’-& )

4. %

Question Number : 119 Question Id : 64041110039 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In the given circuit, the input voltage across base resistance 1s 10V. If base-
emitter and collector-emitter voltages are zero, then the current amplification
factor of the transistor is
23edS Jodhod® egrdo Ao VSBe Sy S"Jsga 10 V. egro - empsgo p0di
DECBH - eorso SPeen T, @008 (PG Dardr 85 =880

0 & oJed @

210V
§ Re =4kO
R
V’. o ’V’Ef\ E)
i 400kQ

Options :

L« 25

Question Number : 120 Question Id : 64041110040 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The waves used for line of sight communication and satellite communication are

V22 Ogp B0JPS oA e SodTIS SHTAPN0D SBorren

[=25)

Options :



Spacc waves

5558 SBorren
v

gl’OlJIld waves

gl SBorren

2. %
sky waves

. 5o SBorren

surface waves

L &N08e SBorren
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Question Number : 121 Question Id : 64041110041 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

1

If a bullet of mass 2.2 g travels with a velocity of 3x 10 ems™!, its wavelength

(inm)is (h=6.6x o

Js)
2.2 g (85850°8 Ko a8 2035 3x 10* cms ™! $508° Bord D, w0 E50K3Y8 o (M
o) (h=6.6x10"% Js)

Options :

1036

-33
L 10

Question Number : 122 Question Id : 64041110042 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The number of d-electrons in Fe=" (Z =26) is not equal to
Fez+(Z= 26) % d-degsg Sogyg B8 BrHo ==h
Options :
the number of p-electrons in Ne (Z = 10)

- 5 b YeoseSer Boaris
o Ne(Z=10)¢" pdogSo soug

the number of s-electrons in Mg (Z=12)

Mg (Z=12) &° s-cI:@LE'gE@ BoggH

the number of d-electrons in Fe (Z = 26)
Fe(Z=26)&" d-&)r;:[sgﬁet Hoggd

the number of p-electrons in C/ (Z=17)

Cl(Z=17) & p-deSe Do
4. = :

Question Number : 123 Question Id : 64041110043 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The electron gain enthalpy (AegH) of chlorine is —3.7 eV mol™'. How much of

energy (ink cal mol™!) is released when 7.1 g of chlorine atoms are completely
converted into C/~ ions in gaseous state ? (1 eV =23 k cal)

865 doigs ey dopel) (AggH) -3.7eV mol™!. & B8 &y 7.1 go 8BS
H8Ermden Grer Cl7 edirdomr SrdEed® dod 48 (k cal mol ™! es)
Deberhi? (1 eV =23 kcal)

Options :
| % 1072

10.72
2. %

17.02
3.

1.702
4.%

Question Number : 124 Question Id : 64041110044 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

. . . . _ i A
The sum of number of antibonding electrons present in 0,.05.035 is
o o ; &
0,.0,.035 e 6 ®DH00PE dojgy dogge dmdo

Options :
| % 15

2. % 9

3.\¢21



4% 6

Question Number : 125 Question Id : 64041110045 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Observe the following molecules

CIF3.SFs.CH,4.NH;.5F,.XeF,.PC/s. The number of molecules in which
central atom has expanded octet is

Bod seHe H$84Do508.
Cﬂ:_g.SFﬁ.CH4.NH3.S:F4.XEF4.PCI5
Bolt HBEPenD) S0tk D:HB0DD &aﬁe{;éo éﬁo)zﬁ LN Dogy

Options :
6

1. %

Question Number : 126 Question Id : 64041110046 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

At T(K). a gaseous mixture contains dihydrogen and dioxygen. The total pressure
of mixture is 2 bar. The weight (w/w) percentage of dihydrogen in the mixture is
33.33%. What is the approximate partial pressure (in bar) of dihydrogen ?
T(K) &8, a8 o MEHo0st FerEasS Hdcs Bedd samon. DiEHsd Iwdo
2tko 2 bar. MFH0S® BaElE S grdTsin (W/W) 33.33%. BarE'as @ny) args
%o (bar ©6%) Dfrthr dod ?
Options :

1.778
1L

Question Number : 127 Question Id : 64041110047 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In two separate 1 L flasks o, and helium are present at T(K). The rms velocity of
O, and helivm is x and y 1115 ! respectively. The correct relationship between
X aud Vis

T(K) 5, Both ;'3?3363 1 L driges? 0, 363805)3 SeBohoen & 00, O, B SrDaho
© s Jreen SHBe X B ¥ ms . x H8cH y e éacjs o $60hE Somotisn

Options :

-
| ]

.
% 8=



2
By=x
3. %
v=8x
4. ®

Question Number : 128 Question Id : 64041110048 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following has the highest mass ?
Bod >8&t d08 o&O8 (508 dotnod 7
Options :

0.5 g atom of oxygen
0.5 g H88reas) o8y

0.5 mol of ozone

0.5 mol &5
2.

i &
3x10°* molecules of nitrogen

17
3x107° emde eSS

5.6 L of CO, at STP

STP&g 5.6 L C‘O2
4.%

Question Number : 129 Question Id : 64041110049 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In a reaction X(g)—— Y(g) at equilibrium, the partial pressure of "Y" 1s one

third of partial pressure of "X". The standard Gibbs energy change ( AG® ) of
the reaction 1s
X(g)——Y(g) o3 585 SHedd 58 "Y" @) 8L b "X" Gk SBE
bEod® 2rEd Sod. & I&H Wirn AJ) $ES° Sxdy (AG®) (g==)
Options :
—RTIn3

1. ®

RTIn3
2.¢

- RT log 3

—RT log 3

4, &

Question Number : 130 Question Id : 64041110050 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

One mole of an ideal gas is present in 1 L vessel at T(K). Its pressure is p atm.
The vessel is divided into two equal parts. The pressure and volume in each part
respectively is

T(K) £, 2.8 3rS o658 arankd 1 L PSS ah. Tl HKESEn P atm. sRSS Both
S5 grrrenrr Do, (58 grod® Hitdo HBAH HSH6ETR0 Sthdme

Options :

patm.lL
1. 2

patm,1L
2. %

1
2patm.— L
p 5

Question Number : 131 Question Id : 64041110051 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A vessel (A) contains 1 mole each of H, and L,. Another vessel (B) contains 2
moles each of H, and I,. Both vessels are heated to same temperature till the
equilibrium is established. in both cases. Choose the correct statement for the
reaction H,(g)+1,(g) = 2HI(g)

28 7S (A) &° a8 B TP H, 528050 L. 508°8 a1 (B) &° 2 IrSo SHPS H,
$08d5 L, en éazom. Both ke 28 SEEHSS SV 53{305@%} Seda.
H,(g) +1,(g) = 2HI(g) #$55% Somofod HBahs amgagid 63?6)&%‘50&. (g=am)

Options :

KC for A and B are in the ratio of 1 : 2
K S0 Adain Betn 1:2 KJE@;@@B €0E008.

1. ®

Kp for A and B are in the ratio of 1 : 2

Kp Densd A #08cn B ot 1 1 2 886° dotnod.
2. %

K. for A and B are equal

K Dendd Asoboin B e Hdrdo.
3. ¢

Kp for A and B are in the ratio of 2 : 1

Kp Densd Avbcin Be 2: 1 ?Qg‘zﬁﬁ &0tnobd.
4, %

Question Number : 132 Question Id : 64041110052 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The conjugate acid and base of ammonia are X and Y respectively. The shapes of
X and Y respectively are
&ﬁjﬂéﬁ)dﬁ? cB:aégT?owW?r’ae‘E_ essy, groren HHde Xinbcm Y. X ibécn Y e @%,éﬁ&?ﬁ-
N

Options :



angular. tetrahedral
| x Shah, sssyiabo
tetrahedral. angular
, o SEERcHo, Edab
tetrahedral. trigonal pyramidal
3 % éé}éﬁéﬁloﬁ}o, [_é“sgeca}’*na'-“«é?tﬁo
planar trigonal. tetrahedral

s g &
L% (88%s Bsnseo, Sehdyslaho

Question Number : 133 Question Id : 64041110053 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

NaBH, +I, — A +Nal+H,

A+LiH——B

In these reactions. A and B respectively are (Reactions are not balanced)
= 56559;@?5 A $8an B en S5Hdme (S85en Hego Fnlevstatntaln®))
Options :
B-Hg. LiBH.
v 2 6 4

B,Hg. (BN),
2. %

BH;.CO. LiBH,
N 3

BH;.CO. B;N;Hg
4,

Question Number : 134 Question Id : 64041110054 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Match the following
Bod ar& 285855

List-T (Metal) List-IT (Flame colour)
hHw-I (§:0) whz-1I (0 Soib)
Ajo T I) Yellow
S0
B) Na IT) Apple green
e ey
C) Ca III) Crimson red
B0 Boid
D) Ba IV) Brick red
BEDE B
V) Blue
E%J\"_)O

The correct answer is
285 ddrprio
Options :
. A-TII. B-V, C-IV, D-1I
1.

A-II, B-III, C-1V, D-1
2. ®

A-TIL B-1. C-IV. D-II
3.¢

A-TI. B-IV. C-V., D-111
4.%

Question Number : 135 Question Id : 64041110055 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following metals is used for measuring high temperatures ?
808 888 & 955;’33:‘3%;_ 088 sEfIiSoH Fodel8 e5@BrAT ?
Options :

;% I

Sn
4. %

Question Number : 136 Question Id : 64041110056 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The buffer system that helps in maintaining pH of blood between 7.26 and 7.42
1s
8806° pH 7.26 5805w 7.42 Sy eotéty B ad H5

oLk

Options :



| % HCN/CN™

H,CO;/HCOj3
2.

CH3COOH / CH;CO0™

4% H3PO4 HJPOE

Question Number : 137 Question Id : 64041110057 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The BOD value of clean water is X. The maximum concentration of cadmium
recommended in drinking water is Y. X and Y respectively are
éjg 58 BOD 2end X. o B RBomoBerdsis 5?(“’5_565353 185 ees Y. X sh6ain
Y en H&dme

Options :

=5 ppm. 0.005 ppm

, « = 3ppm, 0.05 ppm

5 % < 5 ppm. 0.05 ppm

< 5 ppm. 0.005 ppm
L pp pp

Question Number : 138 Question Id : 64041110058 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The number of monochloro derivatives possible for 2. 2-Dimethylbutane and
2. 3-Dimethylbutane are respectively

— E w0 s = L 2. £ Foh .
2. 2-2dngfargBs o 2. 3-3gfarBSes Hodhy 3t £96° edmme Koy

Tevrelgn

Options :

l.\?'%'z

2 % 2.3
3 % 4.2

4‘33 2.4

Question Number : 139 Question Id : 64041110059 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



What are X and Y respectively in the following set of reactions ?
(Bod S5 HMae® X 8asn Y en $Hdmr 2O ?

alc KOH
2-Bromobutane ————= C4Hg

o, KOH (major)

2~ BrangslS
(E5eei)

Options :
HO

CH;COOH.
OH

CH,CH,COOH + CQO,.
3CH; 2 /\/\OH

OH

2. %

CH;COOH, CH;CHO

CH3CH,COOH + CO,. CH;CHO

Question Number : 140 Question Id : 64041110060 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A metal crystallizes with hep packing. The total number of voids, total number of
tetrahedral voids and total number of octahedral voids are shown as A. B and C
respectively. A. B and C in 0.25 moles of metal is respectively

(N, = Avagadro number).

2.8 &%ro hep grtips® é;ie‘i-éﬁﬁsao Dothid. Sndo Bogre Hogy, dwdo BErarlEd
Bolgre Bogy HbBAH Sndo sxarEd Solgre Dogged HHHm A, B Hdam C &
Srdowedy. 0,256 3rde éezﬁ“oéﬁé)?i;\ A.B 8cin C en sk (N, = oHm|Ed 2ogg)

Options :
| % 0-5NA.025N4,0.75N,

L O75NA. 025N, 05N,

, 0-5N4.075N4, 025N,
3.

0.75NA.0.5N 4,025 N,
4.

Question Number : 141 Question Id : 64041110061 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The osmotic pressure of 0.01 molar solution of an electrolyte is found to be 0.65
bar at 27°C. The van't Hoff factor of the electrolyte is
(R=0.083 bar L K™! mol™)

27°C 58 =8 c?)ﬁ:-iL%;Qéb: @n¥), 0.01 Irerb (rdmo (Berfite Hido 0.65 bar. e
BB @0k, oSG Hesdsn (R =0.083 bar L K~ mol™)

Options :

| v 2-610

_— 1.610

2.30

h

3. %

, % 1.805

Question Number : 142 Question Id : 64041110062 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

At 298 K. liquid A (solute) forms an ideal solution with liquid B (solvent). The

following graph is obtained for this solution.

298 K 8, 850 A (ordssm), (50 B (mdd) 8 eid) mrdery Dbm0b. &

(D8 (80b 5 edoDod. (only = Sm(ibh)
y £

T ¥ = Vvapour pressure

V= w@,ﬁx‘ﬁéén

Identify the correct statements about this graph
& D8 KSomohod HBF@D argmsoy HBoBoé (only = BrEh)

2

I) x-axis represents the mole fraction of A
x-0fo A Gio¥) S grridnd Srdidod
IT) Point Z represents the vapour pressure of pure solvent
Boths)y Z «idHd -&cé =S Gng) w@ﬁac‘é%ﬁé}ﬁﬁj Sy AT ela)
IIT) x-axis represents the mole fraction of B.
x-ofo B @ng) 3rd grrdind Db
Options :
I. I only

. I. III only

IL. I1I only

4 » LILTO

Question Number : 143 Question Id : 64041110063 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



When 3 amp current was passed through an aqueous solution of salt of a metal M
(atomic weight 106.4 u) for 1 hour. 2.977 g of M™ was deposited at cathode.
The value of n is (1 F = 96500 C mol™!)

2.8 %0 M (85 g50106.4 1) @n¥) odn aolpedneo oxoe 3 amp s
1 Koty arén (PS2rotEZusopH 2.977 go MY 86%8 58 BHHongod. n Hend
(1 F=96500 C mol™)
Options :
2

1. ®

2.3%]

sv 4

Question Number : 144 Question Id : 64041110064 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A — P is a first order reaction. The reaction was started at 10.00 AM. At 10.10
AM, the concentration of A was x mol L. At 10.20 AM, the concentration of A
was y mol L™, The half life (in min) of the reaction is equal to

AP bbb el (HEd Ehrod &% % 5% 10.00 AM % Foe3:6.10.10 AM
st Aress xmol L7\ 10.20 AM 8¢ A e y mol L™ 3585 excpofond (min e6°)
B8 B5rS0 ?

Options :
2.303
i ¥ kY
log‘ - J
1. % MY
log L
Wy
3.01
2. %
3.0
10g| |
3 % %
3.01
log l
il agr. )
4. o

Question Number : 145 Question Id : 64041110065 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Identify the correct statements from the following
808 7=B&° BB sesage HBodod (only = $m(5D)
I) In adsorption process. both enthalpy and entropy decrease.
wb &% HBaheE &30@5@; 08050 Dolesthen Bodr éﬁga‘:o&).
II) In general. physisorption is an irreversible process.
Frortimore 8% ehSimdn ol &:-rﬂjté%a‘i;{%cﬁ) (irreversible) H8a%
III) The catalystused in the decomposition of potassium chlorate 1s manganese
dioxide.
grérhioho 8786 @rriost ab@rhodD é[;é&\:{‘sgéﬂ)] SroridB 8 E‘_EE;,E.

Options :
| x LILHI

L I, IT only

- L. IIT only

II. III only

Question Number : 146 Question Id : 64041110066 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the sets in which enzyme. its source and enzyme reaction are correctly
matched.

OB, ol &8

L
al—=

o by WO S8y Horr ed Vohadd Hhdbed Hiosos
(only = r|$50)

I) maltase. yeast: proteins — peptides
éﬁvéﬁ;ﬁ, 3; B*8Sen — 'a:é_g &0

IT) diastase. malt: starch — maltose

III) zymase. yeast: glucose — (CzHSOH +CO0,)
b, &3 Kr&tE > (C,H;OH + CO,)

The correct answer is
SBahE Hdrprdo
Options :
L% I II. 11T

I. I only
L III only

3. %

v II. IIT only

Question Number : 147 Question Id : 64041110067 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Identify the reaction which occurs in blast furnace at temperature of above 900
K.
900 K €08 & égf{ﬁé H8 D EOMED 267 St HBoHBw.

G - [ el 2 —

T s

Options :
. 31:‘3203 : CO—}2F3304 o CO:

Fe304 +4CO——3Fe+4C0,

FeO+CO——>Fe+CO,
3.

Fe,0; + CO——2Fe0 +CO,
4. %

Question Number : 148 Question Id : 64041110068 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following.
Bod & adNthihdn. (g=a, [ =)

List-I (reaction) List-II (catalyst)
=Hze-1 (£3;) hze-11 {6@}6501
A) SO, (g) +Clh(g) = SO,ChL(I) I) Pt/Rh gauge
Pt/ Rh resf
B) 280,(g) +02(g) = 2505(g) II) CuCi,
C) 4HC/+ 0, —2Cl, +2H,0 III) Charcoal
obESS
D) 4NH;(g) + 50 (g) - 4NO(g) + 6H0(g) IV) V,05

Correct answer 1s
Heahd Sdrorio
Options :

A-IIL B-1V, C-II. D-1
1.

A-III, B-II, C-IV, D-1
2. %

A-TV. B-II1, C-1. D-II
3. %

A-IV. B-L. C-III. D-II
4. ®

Question Number : 149 Question Id : 64041110069 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Alkaline oxidative fusion of MnO, gives 'X'. The products formed when X'
undergoes disproportionation in acid medium are
MnO, &g 58 asé;ééz& Hedo X' & . e irsgos® X' esihardo o859

5’)6;@9 Bosraaegen  (only = S(ak)

I) KMnO A ) MnO, LIy ) 2 IV) H,O0
Options :
I II only

) % [EI0 T TV

I. I1. 11T only
3, ®

I II. IV only
L4

Question Number : 150 Question Id : 64041110070 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Consider the following complex ions

Bod DoBspeid HBKBoH. (only = £m(53h)
I) [Fe(CN)(]> II) [Co(CN)J*~
D) [Mn(CN)J* IV) [Fe(CN)(]*

Identify the complex ion/s with the least spin only magnetic moment (in BM).
BRR (es wgrds wchaos [grssed) (BM o&?) 80 &1 DoB: Blev Sl (3) 5 Ngvialetnitanel
Options :
| v I &IVonly

, % lonly
3. % 1 only

4% I & III only

Question Number : 151 Question Id : 64041110071 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Consider the following
(Bod=ER HBKBothdm

Statement-1I :  Natural rubber becomes soft at low temperature and brittle
at high temperature.

g | D 0w Sab oo) el 5§ DEnthEod HBA ©bY
A (1S 58 DEhdore Srdood.

Statement-1I :  Natural rubber has weak van der Waals forces between its
polymer chains.

aegeg-1I D Jrw b 06 Sopere g peird oS neren
TOLTOn.

The correct answer is

LB e
i—
Options :

Both statement-I and statement-II are correct

r;a_a;-l o8B o-ﬁégaa-ﬂ Bor JBGE@EI.
1. %

Both statement-I and statement-IT are not correct
q?;sp;-l S8 a@;@;-ﬂ Botr VIR ==

Statement-I 1s correct, but statement-II 1s not correct

oT;sp;-I 2BTRs, =0 9?5@5-]] JBTRB T
3. %

Statement-I 1s not correct, but statement-II is correct
a5l B FXE ==, =R wyyy-TI SBGHES.

Question Number : 152 Question Id : 64041110072 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The water soluble vitamin which is not excreted through urine easily is
Haes® ¥8A Dregorr SumEo owoe D:X3808a¢0 Hedhs (Vitamin = H&dS)
Options :

Vitamin B1 5

Vitamin C
w8
Vitamin Bl

Vitamin B &
4. ®

Question Number : 153 Question Id : 64041110073 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Sucrose when boiled with dilute HC/ gives two functional isomers X and Y. X
gives monocarboxylic acid with bromine water but not Y. The number of —OH
groups in cyclic structure of X is
DB’ ED HSzo HCI & £8A3 X 5080 Y o Both Hehed FerfyEgen ©fTon.
X, 08 2008’ rSPsronBPE elizl) sikob. =0 Y e, X cng dech dogsos’
—OH 55598 Hogy

Options :

1‘36

Question Number : 154 Question Id : 64041110074 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the artifical sweetener which has highest sweetness value compared to
cane sugar

e 135337{555 £EOD), o&HE Saylto Hendd BOAD &)S 8% =580 HBoBod
Options :

Alitame

L D&

Aspartame

on

~ e
Belo Do

2. %

Saccharin
3 % 865
Sucralose

4% WESE

Question Number : 155 Question Id : 64041110075 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Observe the following reactions
(8o S85eiH $6800808.

E——

(1) OH .443K
(i) H”

-

NGO,

The correct statement regarding the mechanism involved in the above reactions
is
B 1555@6-5 B8 68 So Dot Somohod JBGHE gy
Options :
In both I, IT C — C/ bond is cleaved in slow step of the reaction

. L IBo&&s® C - Cl=og NG Isytre 261 ey ©03E° 2thirbHEod
I.

In both I. IT C — C/ bond is cleaved in fast step of the reaction

I II Bo&&s° C — Cl 208 DG Siore e8n B85 ©oBS° etHihEod
2. ®

InIC - C/bond is cleaved in slow step and in IT fast step of the reaction
18 C - Cl a0 Dng Ibre 207 ©038® Hdom II &° Sxore =67 385

3o @o3E =hihEod

InIC - C/bond is cleaved in fast step and in IT slow step of the reaction
1&® C - Cl ot DG Sfore B0 S ©woBS® Kbty II &° Jampbre 67
©2038° shihdHod

Question Number : 156 Question Id : 64041110076 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A halide with formula C ¢H,3Br gave two isomeric alkenes A and B on dehydro

bromination. On ozonolysis of mixture of A and B the following compounds
were obtained.

CH,COCH,. CH,CHO. CH,CH,CHO and (CHB)ZCHCHO.
The halide is
C6H13B1' 2‘-"6)"5’.3" feo a8 86 é’ﬂ{&ﬂéﬁaﬁﬁﬁrf‘ﬁ A H8c%0 B @ Boikh i)vﬂﬁe:,%éé
@@ i miod. A bcin B o oEsed) 5. 55088m0 B85 pes (Bob éﬁo@@’@u
efomran
CH,COCH,. CH,CHO. CH,CH,CHO and ((‘HE)ECHC‘HO.

«—ag'-— 58 ?
Options :

2-Bromohexane

L& 2-8°EFE)S



3-Bromo-2-methylpentane

3 Br-2-EgS008S
2.9 B

1-Bromo-2.3-dimethylbutane

o 17&837-2,3-8 Dpdargss
3. -

2-Bromo-3.3-dimethylbutane

2-&°37-3,3-3 SugSarBs
4. %

Question Number : 157 Question Id : 64041110077 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the major product Y in the following reaction sequence ?
Bobd SogEod® Hued edido Y ab ?

NH., () NaNO, /HCI
21K (i) NaOH. CH;Br
» = Y
(ii) H,0.A (ii) Br, / CH;COOH
Options :
OOCH:BI
1. ®
OOCHEBT
Br
2. %

/@/ocm
Br
3.
Br
4, %

Question Number : 158 Question Id : 64041110078 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0




What is the end product 'R’ in the reaction sequence ?
SogEshos® $H6 ediho R'HG ?

OH
n/ A CO, HC! /n—Hg
= P - Q =R
Anhy. AIC/3 conc.HC/
&m?[g e

Options :

O/ )
1. %
CH;
Ce
2. ®
@/CH 3
3. ¥
: CH,C/
4. ®

Question Number : 159 Question Id : 64041110079 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The incorrect statement about the product 'z', in the given reaction sequence is

BN 5035[5&30@“5, 6890 'Z' § Dowohod) X85 argEy (Alc. = o)

CH;CH(Br)CH,Br (1) .Z.MC -_I‘—?H- A I;IQO vl Isomerisation
- - (i1) NaNH, HgZ*/H*
333K
Options :

It gives yellow CHI, precipitate with I, and NaOH solution

=6 NaOH 50800 I,@Déeaoéﬁ D05 a—:&ﬂé‘ﬁo CHI3 & aob.
1. % -

It is obtained from propan-2-ol by catalytic dehydrogenation

. BV EFDS-2-4.8 &858 & et adEtmos? Sronsn.
2.

It gives red precipitate of Cu,O with Fehling's reagent

v a6 EeDoR seEos® B C‘llZO @5")&5“3% =508,
3.

It undergoes self aldol condensation under suitable conditions

ab ¥k 536?8563665 xaho eaa?cf Yoo e=BhgEotnob.
4, % )



Question Number : 160 Question Id : 64041110080 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following represents Gatterman reaction ?
(Bof S DB rebS Bt Dot ?
Options :
. CsHsN>X ™ +Cu,yCl, + HBr——
1. s - -

CeHsN3X™ +Cu+HBr——
2.¥

CsHsN3X™ +KI——
3%

, « CeHsNIX +HBE,——



